


3. a) Constructthe 3 x 3 matrix A =[a ] where
a,=2(i-J) : (2)

b) Show that the matrix A is skew symmetric
4))

4. Using the properties of determinants, prove that
I a b
I “ “ =(@-b)(b-)(e-a)

' ®
5. The length of a rectangle is decreasing at the
rate of 5 cm/min and the width is increasing at
the rate of 4 cr/min. When length is § cm and
width is 6 cm, find the rate of change of its area.
3]

6. Consider the vector § =2 -+ k. Find two
vectors § and 7 suchthat p. ¢ and ¥ are

mutually perpendicular. (3}
7. If @ =3i+j+2k
a) Find the magnitude of @ (1)

b) Ifthe prajection of @ on another vector
b is J73 , which among the following could

be's"? m
Doi+jk @) 6i+2j+dak
W) 3i-j+2k ) A+I+k

¢} If @ makesanangle 60 withavector T,
find the projectionof @ on © n
(6x3=18)

Questions 8 to 17 carry 4 marks each. Answer any
eight questions.
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